Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

Draw the circuit of vo ltagen
R, =17 KQ, R, =83 K”f’z,/Rc
The transistor has 3 = 100 and vVBE =0. 7 V. ' ' (07 Marks)

> OR »
a switc\" “jw1th the help of neat circuit diagram and

2 a
(08 Marks)
b. (08 Marks)
Take Vec =10 V, Re =1 KQ,
Re=0.5KQ, =50, V,; =07 V
3 a

(08 Marks)

dances.
(08 Marks)




4

<, Fig. Q4 (b)
gT\’Iodule 3\

voltage source is 2 KQ. Fmd the -
(i)  Loaded voltage gam of each. stag .
(i)  Total voltage gain of cascaded ampllﬁer with Rs.
(i)  Current gain of cascaded amphf’ie g
(iv)  Output impedance. < /
The first stage bias No load voltage g}lh =1,\Ys
Output impedance = 1 K, The: seoynd stage has>
impedance of 1 KQ and output 1mpedance of 50 KQ
b. With neat diagrams explain, «casc:ade amplifier.

ut impedance = 500 KQ,

;>3 no load voltage gain of 300, input
) (08 Marks)
(08 Marks)

i OR

6 a. Derive suitable expressxcm;fé explam the effect of negative feedback on, (i) Gain stability
(ii) Distortion in ampllQer X (08 Marks)

b. The open loop gam;of an amplifier is subjected to variation' Of +10% due to changes in
temperature. US}n\\g ?{J@h an amplifier design a feedback ampllﬁet, ich that the closed loop
gain of the am Vligi?r is 150 +1%. Find the value of open loop* gam@f the amplifier and

feedback fact (08 Marks)

Module-4

b. A : \ﬂs?stor amplifier has zero 31gnal collector current of 40 mA. When an a’
cenn cfed, the dc collector current is 50 mA. The peak fundamental current in collec‘:bor is

€ ’%0 “mA. Find second harmonic distortion and output ac power. (08 M rks)
OR
8 a Draw the circuit of Wien bridge oscillator and explain its operation. Also derive an
expression for frequency of oscillation. (10 Marks)
b. Explain with neat circuit diagram, the operation of crystal oscillator and write the expression
for frequency of oscillation. (06 Marks)

2 0f3
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‘neat diagrams, explain the construction, working and static characterlst'/

30f3

(08 Marks)
= 1 KQ,

(08 Marks)




